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ES-213 : FOUNDATION IN SUBJECTS 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : 	(i) 	All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. 	Attempt any four of the following questions in 

about 150 words each : 
(a) How do climatic factors affect the lives of 

people ? Explain. 
Describe the changes that have taken place 
in the transport system in India during the 
post independence period. 

(c) Define social change. Explain the cultural 
factors affecting social change. 

(d) Discuss the non-cooperation and civil 
disobedience movements launched by 
Indian National Congress under the 
leadership of Mahatma Gandhi. 

(e) In the modern world all countries have 
become inter-dependent. Discuss. 

Explain the meaning of human rights. Why 
should the teaching of human rights be 
included in the school curriculum ? 

(b) 

(f) 
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2. 	Solve any four of the following questions : 
(a) Find the value of 2x 2  + y2  + 3yz + 4z + 5 if 

x=2, y=1 and z=3. 
(b) Subtract 6a + 7b — 2c from the sum of 

3a + 2b + 3c and 3a — 4b + 5c. 
(c) Find the product of (3a 2  + b 2  — 4) and 

(2b — 2). 
(d) Multiply the sum of a 2  + 6ab + 2b — 4 and 

3a2  — 4ab + 3b + 8 by 2a — 3. 
(e) Ram is twice as old as Mohan. If six years 

are subtracted from Ram's age, then 
Mohan's age will be four times Ram's age. 
Find their present age. 

(f) Is it possible to construct a triangle ABC 
such that BC = 3 cm, AC=2 cm and AB =8 
cm ? Explain the reasons in support of your 
answer. 

3. 	Attempt any four of the following questions 
(in about 150 words each) : 
(a) What is the difference between renewable 

and non-renewable resources of energy ? 
What should we do to minimise use of 
non-renewable resources ? 

(b) Sun is the source of all energy. Illustrate 
your answer with examples. 

(c) What is the need of measurement ? How is 
area of rectangle measured ? Find out the 
area of a rectangle with length of 6 cm and 
breadth of 3 cm. 

(d) Name three different states of matter. How 
can the state of matter be changed to 
another state. Give examples. 

(e) Describe sieving and filteration as methods 
of separating mixture components. 

(f) Discuss the advantages and disadvantages 
of fertilisers and pesticides. 
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4. Answer any four of the following questions in 
about 150 words each : 

(a) How are crops classified ? Explain the 
meaning of commercial and seasonal crops. 

(b) Explain the meaning of soil fertility. What 
needs to be done to maintain it ? 

(c) Describe the composition of solar system. 

(d) Describe the Ecosystem of a village Pond 
and draw its figure. 

(e) Explain the concept of food chain with the 
help of an example. 

(f) What needs to be done to protect 
environment from different types of 
pollution ? Discuss. 
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